MP-14 CLEVIS ASSEMBLY (3/4” ID BUSHING) (1/2” DIABOLT) (1.375 TALL)
MP-25 CLEVIS ASSEMBLY (7/8” ID BUSHING) (5/8 DIABOLT) (1.750 TALL)
0240 CLEVIS ASSEMBLY (7/8” ID BUSHING) (5/8” DIABOLT) (1.750 TALL)
TB-7 CLEVIS ASSEMBLY (1” ID BUSHING) (3/4” DIA BOLT) (2.120 TALL)
TB-40 CLEVIS ASSEMBLY (1 1/4” ID BUSHING) (7/8” DIA BOLT) (2.400 TALL)
BUSHING ID
CLEVIS GAP IS THE
SAME AS BOLT DIA B
% 3 TALL
MP-3 CLEVIS BUSHING (A .148) (B 1.453 OD) (C .533) (D 3/4” ID) (E 1.133 OD) POLY
0026 CLEVIS BUSHING (A .214) (B 1.453 OD) (C .450) (D 3/4” ID) (E 1.133 OD) POLY
MP-49 CLEVIS BUSHING (A .145) (B 1.720 OD) (C .570) (D 7/8” ID) (E 1.387 OD) POLY
TB-18 CLEVIS BUSHING (A .188) (B 2.120 OD) (C .630) (D 1”ID)  (E 1.495 OD) POLY
TB-48 CLEVIS BUSHING (A .215) (B 2.450 OD) (C .850) (D 1 1/4” ID) (E 1.875 OD) POLY
0239 CLEVIS BUSHING (A .080) (B 1.500 OD) (C .740) (D 7/8” ID) (E 1.000 OD) BRONZE
A B
C — D — E
|
SK-1 DRIVE SHOWER KIT ALPHA 25” HOSE
SK-2 DRIVE SHOWER KIT BRAVO 1 OR 2 W/SMOOTH TOP CAP, 25” HOSE
SK-6 DRIVE SHOWER KIT BRAVO 3 W/SMOOTH TOP CAP, 32 HOSE
SK-5 DRIVE SHOWER KIT BRAVO ITS, 27” HOSE
SK-10 DRIVE SHOWER KIT BRAVO 1 OR 2 FIN OR TEAGUE TOP CAP, 25” HOSE
SK-11 DREVE SHOWER KIT BRAVO 3 FIN TOP CAP, 32” HOSE

prdilead
$ ,,.p H l.ﬂ‘,_.‘\ s
s R




